SERR 28 4R EE i A R R B e e e s
| EBRRE




1 RITEERURIEE

EEEHE

M E | BT &= R IR = B
AIEI%E (H18.4.1) | 1,240,000 950,000 910,000 830,000 780,000
4788 (H22.4.1) | 1,220,000 940,000 900,000 820,000 770,000
=  F | A20,000 [ A10,000 [ A 10,000 | A 10,000 | A 10,000
OKPHOEREEE OERERT, WEREELTVRY, FHYESR A1.27 %
2 BE1GRTERSE)
(1) N F 0%
~ mE | BAF | BmE | BEEE | B 8
SHAT4R (H22.4.1)| 1,220,000 940,000 900,000 820,000 770,000

(2)EBRE .

- —IRBOYERIL, I@%@Fi&ow%\?ﬁ%ﬁgﬁ%%k@ofkb

RATALRDBLOD, TORIIENTHEZ L,

24D b—Z N

c BIEDOHE TR, —BBOWERIT, AL1I%DLEZA, AFIZIA2FA, BIAEZEIA1IFHE

LTE, (EHRERAL%) HEESEORESR (EROEE~2EE) ORREIZAO. 25%
Th., ?ﬁ(CD}:?a‘OHulﬁl@&”ﬁﬁﬁ@%ﬁf%élzt}ﬁm%’\“x Jr;%ﬁ:nﬁ BHITEZEEL Z L

REETHELELLNBI L, :
- (B%) 12475 X0.9975=1, 236, 900F1 (A3, 100M) >12275H (A25 M)
- BT DRMEOREA B, ﬁa‘@tjﬁaﬁmﬁuLTb\éE¢T$EE18¢4ELJP‘ CEEEIT-> T
5 AMEOFEESEEZ TEZEL RoTNAH T L,
(ABAHfEESEE L TWa 4 HEDES 1,227, 500H)

M2 (NEA2ER, AELSATFREITH)

(1) KBS |
_ M OE Bl B E BEE & B

# T % | 1,220,000 | 940,000 900,000 | 820,000 770,000
% E & | 1,200,000 930,000 | 890,000 | 810,000 | = 760,000.

= 4 | A20,000 | A10,000 | A 10,000 | A 10,000 | A 10,000

MR (%) A164 | A1.06 A 1.11 A122 | AL130

ﬂ‘éjﬂfﬁ?s A 1.29 %

(2)BAA

L_hi“coﬂﬁﬁ@ﬂﬁﬁ:’ﬂ/“ﬂ/i —%H§®#$%&ﬁ$ﬁ=74ﬂ‘xwﬂ#i EZI:E’J BT %

fToTWnWaZ &%%%LT&E%H

(3)METH
TRk244E4H 1R



OB EHAEEL TV SEHE DR

1 MBHhIERES L —TsHEEDORR Bifi: M
R % A Swng | EREAE
e B |
W M 0.29369 44 1,210  H18.7.1
B W 0.26835 45 1,200 | H24.1.1
B B 024164 | 47 1,280 |  H8.1.1
E I 0.29986 42 1,260 | H188.1
i@ | 029755 43 1,240 | H204.1
SETLY | 028022 1,238

2 FRL1845E4A uﬁu&i’&ﬁotuéz@ﬂ:a}ﬁm

4liﬁ{7k$i“]

0. 28986

12275

_xaa‘ﬂzma #&Eﬁ)b—j’ws EHM\:D:FW 844 A uﬂ%lham%no'cmm\%#ﬂkéﬁﬂ

=

o2a781 | AR

o H2241

FREABGTFHEOE

A5




:001/85

L8178 €9L°81L1 00¥'8¥€°0Z |000°0¥E'GE [000°086 0621871 001l/¢c¥ 1789€°0 B
909'08 CLGYLL 009°LO¥'61 i00D'OEL'GE |000'0OF6 000'0¢Z’1 001/&¥ :001/09 18L¥20 e |6€
9/G'L8 096 €2l 000918 l¢ :0009L08¢ [0000L0°} 000°02€"| 001}/G¥ 1001/09 ¥Z1ev 0 T3 | 8¢
9/6'%8 9.9'0Z1 000891°l¢ :000'800'LE [000'086 000682 | 001/S¥ :001/09 £698%°0 HIE [LE
89%'¢8 Y¥8'GLL 000'800'61 :00000Z L€ |000°066 0000081 001/0% 001/0G 99/1€°0 HEw | 9¢
EXE | = 0¥ SHYE s 0y s0yE ¢ = 0¥ =E = 0¥ ELE O A e
(E-DMEEF o T L P IREE) | B S H FkO - BIg%x 1 =
) YO HE v E A
%6LT 91— %169~ %92E 2 — e AL
¥81'LI 19— A 007’ 8G1'E— |009EGE |- |00Z LGv— — AR
929'L) Hirg  oF Ly Gy Gy vy o Eil
800'6 HER ov 002'€¥2’9l |000'870'8lL |00Y'0G6'8L |009 LO¥'6l |0000V6
Z0Y'61 HoyE vy 001/9¢ 001/0% 001/2¥ 001/¥ il
Eomeuws  BY I BLLET BB H ot
B[
008'82 HEE Ly ,
09.'62 Hd! oy %1999~ %[99'9~ %99 |- — E A
09608 ¥WOm  ob 000'968'G— |00V'ZvE¢— |009°GBG— — BEELNE
00%'L€ B = & oF A4 124 A4 T} HIl
00Z'LE g ey 000'082'62 |009't6L¢€ |00OFP'0SGYE |000'9EL'SE  [000°02Z }
ggl'se Hioye zv 001/08 001/96 001/6§ 001/09 5 I kS
(HbFEEwE FEH 0 THI A il 3
i
BEOS%=lL] 2528 8O 001 /sv L= IEN W (001 /09LLEE) SESFE O EDY
6E¢C |8 6YS VL 00¥'¢vL'6l 1000'880°GE |£€8'GG6H 1000'GET | 001/E% 001/65 287L20 B
£.9°08 0787901 008'9G/'61 (0000962 |000086 :000'0¥2' | 00L/2¥ '001/08 GG/62°0 gl (LY
7¥8'G8 ieGe 1zl 00078€'1¢ :0002LE6E [000°066 000092'| 001/S¥ {001/59 98662 0 2 B 2
90908 ¢LG¥LL  |009°'L0¥'6L :000'9EL'SE |000'0¥6 00002¢'L [00L/€¥ 001/09 18.¥2°0 H¥E |6
09Y'G8 Z€8611 000'0¥9'0¢ :000%798°9€ [000°000'} 000°082'| 001/€¥ i001/09 791720 s e
YL 092601 000%8LZL :0000088¢ |000G68 000007'| 001/0% :001/08 GE89C 0 Y [1e
0¥9'08 i 000'880°0¢ :000'9G9°0Y |[0000E6 000012’}  [00L/S¥ i001/0L 69€62°0 HHEHW | S
EYE = 0y ENE | = 0% =0yiE = ¥ =XE | £ ¥ W B L T I oLy
(LB BT LI IE | BEE S EIE B H kS Sigsx i =

(& FERT)

EVK O (L—0 43) ) IE Y 5 0 i O Y




